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WARM UP
Use u-substitution to transform the integral: 
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ANNOUNCEMENTS
• Dr. Hood’s Office Hours in Math 844

o Mon, Wed: 3:30-4:30pm

o Fri: 2:30-3:30pm

• TA’s Office Hours in Math Resource Room (WTHR 313)

o Mon – Thu: 9:30am – 8:30pm

o Fri: 9:30am – 3:30pm

https://www.math.purdue.edu/academic/courses/helproom


ANNOUNCEMENTS
• Exam 3 Scores

–Hope to post most of the scores by 5pm Today, 

Mon Nov 28

• Final Exam

–Tuesday Dec 13 at 8:00 am - 10:00 am



POLL 1
What is ׬ sin(2𝑥) 𝑑𝑥?

a) cos(2𝑥) + 𝐶

b) −
1

2
cos(2𝑥) + 𝐶

c) −2cos(2𝑥) + 𝐶



POLL 2
Which u-substitution is better for:
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a) 𝑢 = 1 − 4𝑥2

b) 𝑢 = 2𝑥



POLL 3
Which u-substitution is better for:
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a) 𝑢 = ln(𝑥)

b) 𝑢 = ln(𝑥)



POLL 4
Which u-substitution transformation is better for:
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